Dexter WCN55AEK (T900) Rear View

Item

1

16 22

12

"

18

17

10

21
13

14

Dexter Commercial Dexter WCN55AEK (T900) Washer Parts Parts Diagram Rear View

Click on the part number to view part

Original Part Number Replaced By Status Part Description

9376-298-001 ESt\;/(; Motor, 3 Phase (Inverter
9497-222-004 Rod, Motor Mtg

9545-029-005 Screw

8641-582-014 Lockwasher

9076-052-002 Collar, Shaft (w/set screws)
9453-175-002 Pulley, Motor

9053-077-001 Bushing, Split Taper (Motor Pulley)
9545-018-021 Screw For Split Taper (1/4 - 20 x1)
9453-176-001 Not Available Pulley, Driven

9053-076-001 Not Available Bushing, Taper

9545-029-011 Screw 3/8-16-2


http://www.pwslaundry.com/c-702286-commercial-dexter-wcn55aek-(t900)-washer-parts-for-repair-service
http://www.pwslaundry.com/i-6687073-dexter-9376-298-001-motor-drive.html
http://www.pwslaundry.com/i-1396632-dexter-9497-222-004-rod-motor.html
http://www.pwslaundry.com/i-1396633-dexter-9545-029-005-bolt.html
http://www.pwslaundry.com/i-1396634-dexter-8641-582-014-lockwasher.html
http://www.pwslaundry.com/i-788080-dexter-9076-052-002-collar-shaft.html
http://www.pwslaundry.com/i-6687307-dexter-9453-175-002-pulley.html
http://www.pwslaundry.com/i-6686636-dexter-9053-077-001-bushing-split.html
http://www.pwslaundry.com/i-6687695-dexter-9545-018-021-screw.html
http://www.pwslaundry.com/i-6687714-dexter-9545-029-011-screw.html

10
11
12

22

13
14

15

8641-582-003
9040-079-002
9081-109-001

9545-008-005
8640-399-004

9242-449-004
9242-449-003

8654-029-000

9989-455-001
9545-030-002

9545-008-026

8640-399-004

9242-175-003
8654-117-015
5198-211-004
9242-458-003

8654-117-001

9029-027-004
8640-413-002
8641-581-006

9545-018-020

8640-414-003
9545-055-001
9534-151-000

9099-012-003

9341-046-001
8640-414-003
8640-413-002
8641-581-006

9545-008-026
8640-399-008

8654-117-018

8640-399-008

9099-012-003P

Not Available

Not Available

Lockwasher

Drive Belt

Channel, Rear

Screw, Vault Mtg

Nut, Spring-To Front Panel
Hose, Overflow to drain

Hose, OverfRow to drain
Clamp, Hose overf3ow to drain
Panel Assy., Back

Screw Tube (Bracket to Base
1/4Bx3/4 )

Screw, Vault Mtg

Nut, Spring-To Front Panel
Hose, Pressure Switch

Clamp, Pressure Switch Hose
Circuit Breaker (optional)
Hose, Vacuum Breaker to tub
Shim, Support Assembly ( thin )
Strap, Motor Tension

Nut, Hinge to Door

Washer, Flat (meter assy mtg)
Screw 1/4x3

Nut, 1/4 Elastic Stop

Bolt, Eye ( 1/40-20x1/20)
Spring, Belt Tension

Tension Chain 55#

Link (open end)

Nut, 1/4 Elastic Stop

Nut, Hinge to Door

Washer, Flat (meter assy mtg)


http://www.pwslaundry.com/i-6686397-dexter-8641-582-003-lockwasher.html
http://www.pwslaundry.com/i-788073-dexter-9040-079-002-belt-double-wide.html
http://www.pwslaundry.com/i-6686690-dexter-9081-109-001-channel-back.html
http://www.pwslaundry.com/i-788190-dexter-9545-008-026-screw.html
http://www.pwslaundry.com/i-367204-dexter-8640-399-008-nut-spring.html
http://www.pwslaundry.com/i-8904781-dexter-9242-449-004-overflow-hose.html
http://www.pwslaundry.com/i-6686905-dexter-9242-449-003-hose-overflow.html
http://www.pwslaundry.com/i-6686451-dexter-8654-117-018-clamp.html
http://www.pwslaundry.com/i-6688921-dexter-9989-455-001-panel-assy-back.html
http://www.pwslaundry.com/i-6687716-dexter-9545-030-002-screw.html
http://www.pwslaundry.com/i-788190-dexter-9545-008-026-screw.html
http://www.pwslaundry.com/i-367204-dexter-8640-399-008-nut-spring.html
http://www.pwslaundry.com/i-6686893-dexter-9242-175-003-hose-press-sw.html
http://www.pwslaundry.com/i-788051-dexter-8654-117-015-clamp.html
http://www.pwslaundry.com/i-127745-dexter-5198-211-004-circuit-breaker.html
http://www.pwslaundry.com/i-6686921-dexter-9242-458-003-hoseinlet-water.html
http://www.pwslaundry.com/i-6686523-dexter-9029-027-004-bracket-tension.html
http://www.pwslaundry.com/i-6686337-dexter-8640-413-002-nut.html
http://www.pwslaundry.com/i-6686379-dexter-8641-581-006-washer.html
http://www.pwslaundry.com/i-6686341-dexter-8640-414-003-nut.html
http://www.pwslaundry.com/i-977657-dexter-9545-055-001-screw.html
http://www.pwslaundry.com/i-788160-dexter-9534-151-000-spring.html
http://www.pwslaundry.com/i-6686725-dexter-9099-012-003p-tension-chain-55.html
http://www.pwslaundry.com/i-6686994-dexter-9341-046-001-link-chain.html
http://www.pwslaundry.com/i-6686341-dexter-8640-414-003-nut.html
http://www.pwslaundry.com/i-6686337-dexter-8640-413-002-nut.html
http://www.pwslaundry.com/i-6686379-dexter-8641-581-006-washer.html

